N LEADER I

LR 2700Al1 / LR 2770
SYIIVUNTETA
RACK MOUNT ADAPTER

HikEiAE
INSTRUCTION MANUAL

) -5 —BFHAH
LEADER ELECTRONICS CORP.
T223-8505 tHEMEILRMER2THE6EIZ S

TEL : (045)541-2122 (X&)
2-6-33 Tsunashima-Higashi, Kohoku-ku, Yokohama 223-8505, Japan

PHONE : 81-45-541-2123
http://www.leader.co.jp




1.
1.1

1.2

1.3

1.4

B4+ SPECIFICATIONS
BEZE Description

LR 2700A1/2770 X, EIACKEEF LEX)NHEL 19 A F T v 7 10U E =4 —,
R MR —=TREERVMTHIODT v 7~ NTHXTHTT,

The LR 2700AI/2770 Rackmount Adaptor is designed to mount our waveform monitor and
vectorscope on the 19-inch-wide rack conforming to EIA standards.

xtis#EFE  Applicable Models

LV 5152DA, LV 5150DA, LV 5152, LT 5910, 5100, LV 5100D, LV 5100DE, 5870, 5872A, 5873,
5850V, 5851V, 5860D, 5860V, 5861V, 5835, LV 5836C, 5200 > — X (series), LV 5700A,
LV 5710A, LV 5750, LV 5800, LV 5770

##&  Specifications

s1% (Dimensions) 431.9 (W) <132 (H)<410 (D) mm

‘B & (Weight) 2.5kg

2% E  Mounting Dimensions

— ﬁ*ﬂ
= I — ——
0 L]
i R
i .
Beed oy @)
m N n o
0 R o X N+
N N 0 N Q |,
: s
L “
1° N
9 :
il - 5l
e i = —
— J I
572 21 410 130.4
132 24
@3
® ®
o @ oo i




2. BEDLIEERANZR CONTENTS

LR 2700A1/2770 IE FRLOE ML TR I TWE T, AL THICHEW, IEL AN TTL
SYTAN
The LR 2700AI/2770 includes items listed below. Follow the assembly procedure below.

2.1 ¥ANZE Contents

m&E (No.) & (Item Name) #E (Material) | 41454038 (Finish) | B2k (Qty)
@ LR 2700Al/2770 Z&{X (Body) A5052P — 1
7Z4 v bk (Bracket) A5052P — 2
S w4 HR— b+ (Rack support) | A6063 FIE (Paint) 2
@ A5 4 KL—JL (Slide rail) SPCC =fivar—k 2
(Zinc plating)
©) ]+ v k (Plate nut) sPcC =l aA—k 4
(Zinc plating)
@ 297 (Hook) SPCC =@yt —+F 2
(Zinc plating)
® EEHR (Angle bracket) sPcC =l aA—k 2
(Zinc plating)
® M3x6 M/hpr 0 (Steel) ZUTIILAYE 6
(Flat-head screw) (Nickel plating)
@ M4 x6 /N i (Steel) ZyTLAyFE 4
(Flat-head screw) (Nickel plating)
M3 X6 /N 2 RINR S 5 (Steel) ZYFILAYF 2
(Binding-head screw) (Nickel plating)
© M5X12 /N Y FIhR i (Steel) ZYUTILAYE 4
(Binding-head screw) (Nickel plating)
M5X16 /31 > FIhNR i (Steel) YT AYF 4
(Binding-head screw) (Nickel plating)
@@ No8-32UNCx16 /34 > K/INR T | $ (Steel) ZybFLAyF 4
(Binding-head screw) (Nickel plating)
— M5F F£Jvsv— 0 (Steel) ZyTILAYFE 4
(Plain washer) (Nickel plating)
- /N2 K (Band) F+4 B> (Nylon) - 1




2.2 #HAILTHE Assembly Diagram

Bt =f— /_RIMARa—THE
(Waveform monitor,/Vectorscope)
LV 5152DA,LV 5800, etc. . .

-

.

/N~ FSDIE=#— LV 5750
(Compact Multi SDI Monitor)

FyryR—b

(Rack Support)
7Z4ryh
(Bracket)




S w oADMY F+ RACKMOUNTING

LR 2700A1/2770 % 7 v 7 \ZHX O AT 28812, FREOMD T HiEEZBEZIC L, BHEWIZRD T
Y ZIZEDETHEZ LT EEW, IELWIRY T Z21ThRne | a0k T, BEORH
bHYET,

When rackmounting the LR 2700AI/2770, follow the instructions below for correct mounting to
prevent the instrument from falling.

Y {#H+Ai% Installation

Ty IYR=F MHBORTA FL—nZH L, 7y 7 IZWROFTTESn, A74 FL
—MET v 7 DRATEICE DR, MY ALOAEZREH L T 230,
Use the Rack Support and Slide Rail for rackmounting. Adjust the Slide Rail position according
to depth of the rack by selecting the hole.

M5x16

PLURIRY

(Binding—head screw)

Ln_[‘
Mb5x12
A FIEY

(Binding—head screw)

AFARV— v
(Slide Rail)

Y

LR 2700A1/2770 A4k
(Body)

:

Ty IFR—h
R . (Rack Support)

g O
o
]
o
o
=<0

Basd
o=

N
il

o tetery
(19~ inch- wide rack)




3.2

w2 HR—FDOERY{FFAiE Mounting Rack Support

LR 2700A12770 IZ FTHA~O D Lk 912, T v 7 ¥R~ FOIRY (I IEE 4 BepE L5
TENTEET, (HAHOMEIZB) BHEWVICADIREISLT, 7y 7P R—FofE%
ERZTHENSTZI N, Ty 7R = FOWMVAHINEZZEZ DI, BELTWDLIRY, F
v Doy =% LT T7 v I R— b NDOMNEZEZ, B LIEXY, Ty b Uy
¥ —TREELTLEIV, BB, X YOREDIFIZTDITITV, B D, BleDEDRN
EEMER LT THEHSZESI N,

Four Rack Support mounting positions can be selected as shown in Figure @ - @ below,
( is used when shipped from the factory.) Select the appropriate position. To change the
Rack Support mounting position, remove the screws, nuts and washers, then position the Rack
Support as required. To reinstall the Rack Support, reverse the order of the removal steps.
Fully tightening the screws secures the Rack Support.

415

Ty PR—NRO T XY
(Rack Support screw)

Ty R—h \\\\\\\\

o i
|
(Rack Support) (@ i G
5% dan 5 ) :
(Washers) . _o % 9 \
Fyb / / / I /

(Nuts\ . b o / | @oo/' l e j o 0@ /




4.1

4.2

INEZ )LF SDI E=4 —LV 5750 OB Y 1T 5&
MOUNTING LV 5750 COMPACT MULTI SDI MONITOR

LR 2700A1/2770 |2 % #:8/Mil< )L SDI & =% —LV 5750 ZH 0 fF1F AB81%, TieOEEZ1T
S TLTEEN,

Follow the procedure below when mounting the LV 5750 Compact Multi SDI Monitor on the LR
2700Al1/2770.

HhN\—DELY S L Removing Cover

LV5750 D 7 N—% DA LT 2SN, A AX—DOE D S LIIZAR A L o F (R4 ZEH L
FELTNDRY 4AREI LRI, D) 5I<) ODFEAIN—%2 AT A RIS TIIEIW,
To remove the LV 5750 covers, remove four screws by using an Allen wrench (nominal size 4),
then slide the cover in the arrow direction as shown in Figure.

A4 (Remove) g (Cover)

#AHILTHZE Assembly Procedure

1.

T =LA REHNLET,
Remove the frame guide.

MHALAC 7 X7 Z LP 1960 (BlEhh) ZHBHENCR 561X, B0 7 v 7 % LR
2700Al/2770 AKIZER Y AHTF T 2 &0,
When using our LP 1960 AC adaptor (sold separately), mount the hook supplied.

LV 5750 DY A1, £ B OEER A LR 2700A1/2770 AKD 1R M3 X6 [/
AR LTI AT £4, WIZ LV 5750 (D L a2FIH) & EEKRZ M3 X6 /3
A2 FARPTHEREL T ESV, £z, FEKRZEMNETIC LV 5750 200 11 2%
A1, LV5750 O E FHEOR VAEFIH LT, RO MAXE6 M/ TEEL T 7ZE
W A XOMED RV % THEIZARD 3L LVET50 2B+ 52 L3d 0 £9, 47
MHEOR T & TR ES 0,

There are two methods to mount the LV 5750:

- With brackets

Secure the angle brackets on the top and bottom of the LR 2700A1/2770 by using
flat-head screws (M3 X 6). Position the LV 5750 to the bracket, then assemble them by
using binding-head screws (M3 X 6).



- Without bracket

Use tapped holes on the top and bottom of the LV 5750 in this case. To assemble them,
use flat-head screws (M4 X 6). The supplied screws must be used to prevent the
instrument damage.

M4x6 /%y

L BAAR (Flat—head screw)

(Frame guide) LR 2700A1/2770 A& (Body)

M3x6 [M/NxY
(Flat—head screw)

M3x6 M/NRY
(Flat—head screw)

M3x6 I/hRY
M3x6 /AURIFS (Flat—head screw)
BEER (Angle Bracket) (Binding—head screw) BEEMR (Angle Bracket)

J—@—‘

LV 5750 v M3x6 SAVRARY (Angle Bracket)
* (Binding—head screw)
é ® o M3x6 M/p%kY
|| | e T—— ® ® (Flat—head screw)
E1h
—
(O]
I | | ) e
€]
i ® ——— ) & ®
M3x6 /IR i \lﬁﬁz’iﬁ (Angle Bracket)

(Flat—head screw)



4.3 AC 7R TR DEEAZEIZDUL T Mounting AC Adaptor

AC 7 X 7% LP 1960 % [EE L TRV DB, DX HIfHEDNN RE7 v 7 1Zi@ LT
BELTLZEN,

When mounting the LP 1960 AC adaptor, pass the band through the hook as shown in Figure.

R ACTHTH—

2 —

(Band) (AC Adaptor)
o LP 1960

797

(Hook) 7v7  (Hook)

g}ME}xG Whxy
(Flat—head screw)

5. JAlI5EMm OPTIONAL ACCESSORY (SOLD SEPARATELY)

7'Z 7 3%/ (Blank Panel) LC 2125A, LC 2170



Following information is for Chinese RoHS only

BB EEYIIER
HH55S: LR 2700AI / LR 2770

®

bR A E T o A B 1 A R, AR 200642 F 28 H A AT Y
CHLTAE S iy e s i g B/ mik) BLAST/T11364-2006 € HL-115 J8 ™ s G
FEHIbRRER Y , Rz e 4 a v BRI . BCE SRR IR IR R
FHIIRR, BN 5 A WA S 22 A AU v i o, S H S A3
FHRRIERR A, P2 AN A IR S YR A 7= B35

P IE A8 SRR B R MR TR B R R R AR OGS A .

TEAIE & W & RBUN ]
77 A B YRR AR
HRA 44 Fx HEAFEY BT E Hazardous Substances in each Part
Parts T 7K 4 NS Z IR 2R TRk
(Pb) (Hg) (Cd) (Cr(VI)) (PBB) (PBDE)
AR X O O O O
£

O: LR TH FW AL A BB R A
X RNGUA A FYRBTTR BB R

S gAEST/T11363-2006 FiAE I FREBEsK LR o
EEHST/T11363-2006

PrAE R E (K PR K

Ver. 5

Sep. 26,2011 Ver4




